
日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。(うすい字はなぞりましょう。)

① －

＝ － 2 0
1 0 0 0

0
8 0 0

② －
3 1 0 0

③ －

＝ －

＝ － 9
2 0 4 0

0

④ －

＝ －

① 例題

1

＜筆算スペース＞

200

800

400２

40２ 90

150

100３ 700

１
10０

10９１

３



＝ － 6 0

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。(うすい字はなぞりましょう。)

① －

0
4 2 0 0

－

② －
5 0 0 0

③ －

＝

－

④ －
1 0 0 0

－ 3 5 0

② 確認

2

＜筆算スペース＞

350

900

300６ 400

１
０

５

200４ 600
10３

10９



＝ － 1 0

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。(うすい字はなぞりましょう。)

① －

0
4 0 9 0

② －

③ －

－

－

④ －

－

③ 確認

3

＜筆算スペース＞

100

90４

280５ 830

１

10３

700６ 900

100



－

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

－

② －

③ －

－

④ －

－

④ 確認

4

＜筆算スペース＞

900

200

550８ 920

１

３

200４ 600



④ －

－

－

③ －

＝ － 6 0

② －
3 0 2 0

1 5 0 0

2 1 2 0
＝ － 6 2

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。(うすい字はなぞりましょう。)

① －

0

⑤ 定着

5

＜筆算スペース＞

500１

20３ 60

980

120２ 620
１

10９２

５

200４ 400

10



－

④ －

－

③ －

－

② －

1 0 0 0
＝ － 6 0

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。(うすい字はなぞりましょう。)

① －

0

⑥ 定着

6

＜筆算スペース＞

600

300

380７ 720

１
０

5

150２ 550

10



－

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

② －

③ －

－

－

④ －

－

⑦ 定着

7

＜筆算スペース＞

800

30３

570６ 740

１

200５ 400

210



－

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

－

② －

③ －

－

④ －

－

⑧ 定着

8

＜筆算スペース＞

20６ 30

400

150２ 720

４

7807 970



－

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

② －

③ －

－

－

④ －

－

⑨ 定着

9

＜筆算スペース＞

30６ 70

800

270２ 930

４

380５ 530



－

④ －

－

③ －

－

② －

－

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

⑩ 仕上げ

10

＜筆算スペース＞

420

30４ 90

１

400２ 300１

990２ 30



－

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

② －

③ －

－

－

④ －

－

⑪ 仕上げ

11

＜筆算スペース＞

500１

450３ 550

600７ 500２

160３ 40



－

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

② －

③ －

－

－

④ －

－

⑫ 仕上げ

12

＜筆算スペース＞

400

280８ 610

２

300 150

630５ 300



日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

－

② －

③ －

－

－

④ －

－

⑬ 仕上げ

13

＜筆算スペース＞

800４

290２ 530

800２ 600

800５ 200１



日にち： 月 日

名まえ

・次の計算をしましょう。

① －

－

② －

③ －

－

－

④ －

－

⑭ 仕上げ

14

＜筆算スペース＞

600８

580２ 650

700８ 400５

760４ 110



④ －

－

－

③ －

－

② －

名まえ

・次の計算をしましょう。

① －

－

⑮ 力だめし

15

＜筆算スペース＞

800３

2305 410

目指せ75点！

(各25点)

700 300

900４ 800



名まえ

・次の計算をしましょう。

① －

－

② －

③ －

－

－

④ －

－

⑯ 力だめし

16

＜筆算スペース＞

400７

370８ 450

620 120

980３ 20

目指せ75点！

(各25点)



日にち： 月 日

名まえ

・次の計算をしましょう。(うすい字はなぞりましょう。)

① －

＝ － 2 0
1 0 0 0

0
8 0 0

② －
3 1 0 0

③ －

＝ － 7 0 0
2 4 0 0

＝ － 9
2 0 4 0

0
1 9 5 0

④ －
3 0 0 0

5 0
＝ － 1 5 0

2 8

① 例題 答え

1

＜筆算スペース＞

200

800

400２

850２

40２ 90

950１

150

100３ 700

１
10０

10２

10９１

10９２
３



＝ － 3 5

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。(うすい字はなぞりましょう。)

①

－

－

②

－
6 3 0 0

0
1 0 0 0

6 5 0

④

③

＝ － 4 0 0
5 9 0 0

3 6 0 0

＝ － 9 0 0
4 1 0

－
5 0 0 0

0

4 2 0 0
＝ － 6 0 0

② 確認 答え

2

＜筆算スペース＞

350

650

900５

100４

900

300６ 400

１
０

５

10４
５

600３

200４ 600
10３

10

10９



日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。(うすい字はなぞりましょう。)

①

－

－
4 0

0
4 4 5 0

5

③ －

④ －

2 8 0
＝ －

9 0

1 0 0 0

＝ －

8 3

0
5 8 0 0

0
6 7 0 0

＝

1 0 0
3 9 9 0

9 0 0

②

＝ － 1 0 0

－ 9

③ 確認 答え

3

＜筆算スペース＞

100

900

450４

90４

990３

280５ 830

１
０ 10

４

10３

800５

700６ 900
10５

10

100



＝ － 6 0

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

0
3 6 0 0

4 2 0 0

＝ － 2 0 0

② －
3 0 0 0

2 8 0 0

③ －

＝

0
7 6 3 0

8 5 5 0
＝ － 9 2

④ －
1 0 0 0

1 0 0
－ 9 0 0

④ 確認 答え

4

＜筆算スペース＞

900

100

630７

800２

200

550８ 920

１
０

７

10２
３

600３

200４ 600
10３

10

10



0
0

3 8 0 0

4 2 0 0

＝ － 9 8
4 0 2

3 0 2 0

④ －
5 0 0 0

＝ － 4 0 0

0

③

－

－

＝ － 6 2 0

②

＝ － 6

1 5 0

0

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。(うすい字はなぞりましょう。)

① －
2 1 2 0

2 9 6 0

⑤ 定着 答え

5

＜筆算スペース＞

500１

20４

20３ 60

960２

980

120２ 620
１

10９２

10９４
５

800３

200４ 400
10３

10



日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。(うすい字はなぞりましょう。)

①

－

－

＝

0
6 6 6 0

0 0 0

7 3 8 0
－ 7 2

5 5

－

1 0 0 0

0

－ 6 0 0

1 6 0 0

2

＝

4 7 0 0
＝

－

－ 3 0 0
5

4 0 0

④

③

②

1 5 0
＝ －

⑥ 定着 答え

6

＜筆算スペース＞

600

400

660６

7004

300

380７ 720

１
０

６

104
5

600１

150２ 550
10１

10

10



＝ － 2 1

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

0
2 8 2 0

3 0 3 0

② －
5 2 0 0

0

③ －

＝ － 4 0 0

＝ － 7 4

4 8 0

0
5 8 3 0

6 5 7 0

④ －
1 0 0 0

2 0 0
＝ － 8 0 0

⑦ 定着 答え

7

＜筆算スペース＞

800

200

830５

30３

820２

570６ 740

１
０ 10

５

10２

800４

200５ 400
10４

10

210



＝ － 7 2

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

0
1 4 3 0

2 1 5 0

＝ － 3 0

② －
6 0 2 0

5 9 9 0

③ －
7 7 8 0

＝ － 9 7 0
6 8 1 0

④ －
4 0 0 0

0
3 6 0 0

＝ － 4 0

⑧ 定着 答え

8

＜筆算スペース＞

430１

20６ 30

990５

400

600３

150２ 720
１

10９５

10３
４

810６

7807 970
10６

10



＝ － 5 3

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

0
4 8 5 0

5 3 8 0

② －
4 0 0 0

0

③ －

＝ － 8 0 0

＝ － 9 3

3 2 0

0
1 3 4 0

2 2 7 0

－④

6 0 3 0

5 9 6 0
＝ － 7 0

⑨ 定着 答え

9

＜筆算スペース＞

340１

200３

30６ 70

960５

800

270２ 930
１

10９５

103
４

850４

380５ 530
10４

10



④

③

－

＝ － 1 3 0 0

3 0

－
2 9

0

5 8 0

9

2 9 6 0

1 1 0

9 0

0 0

1

3 9 4 0

0

－

0 0 0
－ 4 2 0

2 4

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

①

＝ －

② －
4 0 3 0

＝

－

＝

⑩ 仕上げ 答え

10

＜筆算スペース＞

420

580

30４ 90

940３

１
９０

10９３

400２ 300１

100１

990２ 30

960２

10



＝ － 5 0

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

0
5 0 0

1 0 0 0

＝ － 5 5 0

② －
3 4 5 0

2 9 0 0

③

6
－

3 1

0

－

0
＝ －

④

4 0

＝ － 2 5 0

3 1 2

0
5 1 0 0

7 6 0 0

⑪ 仕上げ 答え

11

＜筆算スペース＞

500

500

１
０

900２

450３ 550
10２

10

600７ 500２

100５

160３ 40

120３



3 0 0

②

④

－ 6 1

＝
2 0 0

日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －

－ 4 0 0

－

－
8 2 8 0

③

7 6 7 0
＝

0

0

＝ － 1 5 0

1 6 0 0

＝ － 3 0 0

1 5 0

－

5 3 3 0

5 6 3 0

⑫ 仕上げ 答え

12

＜筆算スペース＞

670７

600１

400

280８ 610
７

10１
２

10

300 150

150

330５

630５ 300



日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －
2 2 9 0

②

0
1 7 6 0

＝ － 5 3

－

0 0
4 0 0 0

③

＝ － 8

④ －

＝ － 1 2 0
5 8

2 8 0 0
＝ － 6

－

0
0 0

2 2 0

0

0 0
0

4 6 0 0

03 2

⑬ 仕上げ 答え

13

＜筆算スペース＞

200３

800
10３

４

760１

290２ 530
10１

200２

800２ 600

800５ 200１

600４



日にち：　　　月　　　日

名まえ

 ・次の計算をしましょう。

① －
2 5 8 0

② －

0
1 9 3 0

＝ － 6 5

③ －

4

8 0 0 0
＝ － 6 0

④ －
7 6 0

＝ － 1

8 7 0 0
＝ － 5 4 0 0

0
7 4 0 0

3 3 0 0

1 0
4 6 5 0

⑭ 仕上げ 答え

14

＜筆算スペース＞

400７

600
10７

８

930１

580２ 650
10１

700８ 400５

300３

650４

760４ 110



0

＝ － 8 0

4 8 2

0
3 0 0 0

＝ － 4 1

＝ －

0

－

2 2 0 0

4 9 0 0

0 0

－
5 2 3 0

8 0 0
4 1

0

④ －

＝ － 3 0

・次の計算をしましょう。

①

名まえ

②

4 0 0

7 0 0

③ －

⑮ 力だめし 答え

15

＜筆算スペース＞

200２

800
10２

３

8204

2305 410
104

目指せ75点！

(各25点)

700 300

400

100４

900４ 800



名まえ

・次の計算をしましょう。

① －

＝ － 4 5
8 3 7 0

0
7 9 2 0

②

6 2 0
－

③ －

＝ － 1 2 0
5 0 0

＝ － 4 0
7 0 0 0

0
6 6 0 0

6 0
2 0

④ －
3 9 8 0

＝ －
3 9

⑯ 力だめし 答え

16

＜筆算スペース＞

600６

400
10６

７

920７

370８ 450
10７

620 120

500

980３ 20

960３

目指せ75点！

(各25点)




